| RAITISIS R

| SWING CLAMPS

OIRVBECO—JDBBNTEETT, TAICH, IV TTRICH

BRET,
FH/N\A NP IV AN R—RTIS Y TEBEET—(CED
BBTENTEET,
WEEHAR
I5 T I5YFILF I57%% EWN443008
B AR T={E ’
EWN-40600B.
; o 401058,
2 HNREI=5 401358,
7 60135B
3 IR
4 . ISR EWD44300B
TR =(E ﬁ
EWD40600B.
i 401058,
Sl edoeed
IR FTWTAR T e01328
S EWN44300A
AR

HRET=E

|
wivy

P.472 >

EWN40600A.

DUAR
TSI THR EWD44300A

5
=W ) =H

EWD40600A.
40105A,
TRES=5 o
T4 vIUN—2 FIWGAR HEREETE pIEE
s
2L VT ISYTH
NPT v AR R—R .
T—JEED/NA b~ ":177\%("6@‘356 i I ReRA
- AE 7 < A ° . g = S +. N 4
T Iy P DERET, ggt_(czgilt‘\ﬁ_ﬁ<tﬁf)[bM\@‘P.477(DFEYH ERAEEZS

SINCE 1580

466 CADF—95 90—k - EERAE Web B bT! [ 7T \ uj\ NABEYA co., L.

FriendsNo.219/2021.1 1 &iERE




s

SCM420
R

VL&

M

HAREIBENDT,
IV TNINEBTE

EHRCO0TIIICT.

MAS5NET

TAVILN—ANBIET,

ENEET.

[

B4

RITOBRETHIS

ITSVFNYRDAD

QNANA DL

AN

VITEFT,

e

SINCE 1560

467

CADF—95'9y0—K - EERAE Web Y bT! [ 7RV

NABEYA co, L.
ncsNo.219/2021.1124IERR

Fries



ARAVT TS SARY ERON”

SWING CLAMPS <TYPE A>  No.E-9317

BB & AL RELE

2A VT NYR SCM420 | BEAHRC60 BED
LT — SCM420 | BEAHRC57 -

T4 v I UN— SCM420 | BEAHRC58 BRD

IAvIUN—FMRILE| SCM440 | BEAHRC23 RED

TRAOYRFYRTNM1412K 118

\3\4‘\\)

T THUVUIN

- 77,
TELZ 5 F RS TG WERA > TT FIVFAID
(NYRILAE) HAREDSUEEA) 795U T B TED
L=
s R LEES ¢ RS
= Voo | fan Wl Ea aoo et T g | ®
#903489 | EWN44300A | 14 M12x1.75 40 25 - 30 0.25 2 1.0 39,500
#903490 | EWN40600A | 14 M12x1.75 55 50 - 60 0.25 2 1.2 59,000
#903491 | EWN40105A | 14 M12x1.75 55 70 -105 0.25 2 1.4 62,000
#903492 | EWN40135A | 14 M12x1.75 55 100 -135 0.25 2 1.7 63,000
#903493 | EWN60135A | 14 MI12x1.75 67 101.5-1365  0.25 2 3.0 77,000

. SINCE 1560
472 CADF—999y0—K « HERAIE Web 51 hT! [ 7T \ NABEYA co, L.

EHIERE




ON

==
—— i © i
- i i
o ] = I}
f J
T 1 I E \
E J %0
_
EWN44300A EWN40600A,40105A,40135A,60135A
CLEwE
No. A B C D E F: G (I G 1)) K L M N:O P QEE)
EWN44300A (62:40:44:18° 9:29 25 - 30 16:36:M12X1.75: 87.4- 92.4:80.3:32:12: - - -
EWN40600A |(75:55:40:20:21:23 50 - 60 16:36: M12X1.75:106.4-116.4:80.3:32:12:40:10.5: M12X1.75
EWN40105A |75 55:40 20:21 . 23: 70 -105 16 36 M12X1.75:126.4-161.4:80.3 32:12 40:10.5: M12%X1.75
EWN40135A |75 55:40 2021 23100 -135 16 36 M12X1.75:156.4-191.4 :80.3 3212 40:10.5 M12X1.75
EWN60135A (89 67:50:17:22:23:101.5-136.5 :16 55:M12X1.75:157.4-192.4:80.3:32:12:60: 14 :M12X1.75
WERSEAERK
EWN44300A EWN40600A. 40105A,
S 40135A,60135A
@ | FAwIUIN— ERERAERY
o | ®HEEY S ® | 21woLn—
® | IAvIUN—RRILE @C‘@ @ | FTEY
@ | TEs ® ® | 71vILUN—BRILE
®| 27Uz @/ ® | 21T Awk
@ | mLs— ® | 2Fuvr
AT Il () B @ | SuvT— LT —
ST LEH L (F2E)
SINCE 1560 . .
NABEYA co.um. CADF—995v0O—FK « EHRAIE Web ¥ rT! [ FR¥ \

FriendsNo.219/2021.11ERE

T THYNUIN

473





